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No. of Questions : 100
Wl 6 HEAT : 100
Time ; 2% Hours Full Marks : 300
o 2-;- v - - quIfEF : 300

Note : (1) This question booklet contains 100 [hundred) questions in all
faumﬂaotm-nandminﬂat:ﬁnn-n}.ﬂtt:amptasmany
questions as you can. Each quiestion carries 3 ({three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question,
¥ a-giE § g 100 () usT ¥ (wes- o # 30 7
TUS-q § 70 )| i ekt @ e Y B AT I
T, =T 3 (@) oiEt @ B 5% T OO B R o
FF FET | TH FTART T Br AT g B

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

ﬁwmmﬂﬁwﬁﬁﬁmﬁ,ﬁrm
el I97 #|

3 P.T.0.
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Q1.

02.

SECTION - A
g5 - H

The most important factor that makes class room teaching more

interesting 1s : i

{1} content of topic (2] lesson plan

{3) teacher’s personality (4} teaching method

Far & g B O ATH TN H FIY WEAL! IEF ©

(1) we & fammaw] (2) WS A

(3) Tereen & =l (4) T @ A

What do you consider as the most effective step to control the lower-

ing of standard of Education ?

(1} Have more teachers.

(2) Impart better training to teachers.

(3} Qualitative improvement in the overall education system.

(4) Parental awarencss towards children’s homework.

ﬁm%mﬁﬁm&zﬁméﬂﬁﬂﬁ%mm%ﬂaﬁ
THTESTEH 39 ®Hd & 7

(1) “=maT e T

(2) Rregt = eae gfweer R

(3) Tww fen wafRy #§ PO gl

(4) qaﬂ%ggmﬁ%ﬂﬁrw—ﬁwﬂwmw
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03. As per Continuocus and Comprehensive Evaluation (CCE) - Compre-
hensive means :

(1} Assessment of only educational development of the child’s
personality.
.(2) Assessment in scholastic as well as co-scholastic aspect of the
pupil’s growth.
(3} Assessment of scholastic aspect only.
(4) Assessment of co-scholastic aspect only.

FRER @ =195 TR (CCE) & ST =ms &t ord &

(1) ¥=7 % =ofaaw & Saw JnPE e o PR

(2) Rerf 3 RPeb & M@ B Ao TE-Atm ey W A
Frafoor

(3) Faw Mdes wmg & Prerfeor

(4) P we-Hewn e A Freteor

04. Who is an effective teacher ?
A teacher :
(1] whose class is disciplined.
(2} who asks questions in the class.
{3] who teaches with enthusiasm in the class.
{(4) who makes his subject métter readily comprehensible,

%I O WTEE STeATyEs B 7

T A

(1) Frasdt =an sgafde 2

(2) =it waw & ueT gear &)

{3) St I § 9BET B :
(4} St Rwzasg & S w9

5 _ P.T.O.
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05. Teaching should be :

06.

07.

(1} curriculum centered. (2] child centered.
(3] teacher centered. (4] society centered.
femror &t

(1) areeee fag AT =Rd | (2) TeefE S SRy |
(3) A=A BiEd S afed | (4) THT Biad BT el |

Suppose a student suddenly makes noise in your classroom, what
will you do ?

(1) I will give him punishment.
(2] Iwill ask him to go out.

(3) I will ignore.

(4} 1will call his/her parents.

T AT STTE AT § ST UE Wi TSt IR €, AT #49
LI ?

(1) ¥ 3§ sfoEd |

(2) B I8 FieL A Bl HE

(3} ¥ s FE Fmi

(4) # IaF ABTAEER B AR |

The most important factor in learning is :
(1) teacher's teaching method. (2) parent’s cooperation.
(3] student’s will to learn. (4) learning material.

aftrm § e gEEyT FRE ¥
(1) R &t famor R (2) RS BT HEENT
(3) o1 6 HEA B §E8| (4} SARrRET |TEAl
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08. If majority of students in a teacher’s class are weak in their studies
he should ; '

(1} ignore them.

(2] take care of bright students only.

{3) continue his teaching as he was teaching.

(4) keep his teaching slow and give some extra guidance to bright
students. *

A% W AT A wEw § Afeepte e gt ved ¥ wueit &t

3 : .

(1) &9 SWSE! HT aifed |

(2) WoE HIH SET W & AW I AR |

(3) ary=m fErer Sy T e .

4w B @t ofy ) der o e eet B g s
FRYE mom e afed

09. What a teacher should de i he has to maximize students’ participa-
tion in teaching ?

(1) he should give more lectures in the classroom.
(2) he should initiate classroem discussion on the topic.

(3} he should ask students to read textbook in the classroom.
(4} he should use audio-visual equipments in the classroom.

A TH AETTE B aEw § oy o aEainn o 8 9 o) T
T Ty 7

(1) I8 R o e 2 wfed

() S8 Ryg-awg 9 AR R woet el |

(3) SR W F YW&F F A HT B BE AR |
(4) I8 Fam ¥ gor 42 EhwR wr OwET Bem ey

7 P.1.0,
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10. Which of the following qualitics in a feachers is most admired by

11,

12.

13.

students ?
1) Punctuality (2) Strict sense of disciplines
(3) Impartial attitude (4) Self confidence

wET @Ta e Rees @ e o @ 999 SaE g9 @ SR
27

(1) woarT (2) EEa STNTET @ HE
(3) Toregsr @ (@) STEEE®

Sarva Siksha Abhiyan had aimed to provide quality education to all
children of 6-14 years by :

(1) 2008 (2) 2012 (3) 2010 (4) 2014

ﬂﬁﬁmﬂmﬁuﬁma&qmﬂ‘ﬂﬁ-ﬂﬁ%aﬁaﬁw
{3 & .

(1) 2008 7H (2) 2012 &F
(3) 201075 (4) 2014 <

Deocument ‘Learning without Burden’ was published in :

(1) 1991 (2) 1993 (3) 1992 (4) 1994
T RmeTee SE SRIAS TRINE g9 o |
(1) 1991 # @ 1993% (3 1992H 4) 1994 H

NCF 2005 has how many curricular areas ?

TG TIEE 2005 & Fhee Q@R 8 B 7
(1} 20 (2) 23 (3) 21 (4) 24



14.

1S5.

16.

17U/92/30(i)

‘Eklavya’ organisation has developed a different appmacﬁ to primary
education. ' _

{1) In Madhya Pradesh (2) IIn Maharashtra

(3) Tm Kerela (4) In Rajasthan

‘TFEE G T ureiie e & o o UK & JIPH &
R Bm B

() &= s@er H 2) wErE |
(3) I A (@) uoreE §
Which country will host the 2017 World Environmental Education

Congress (WEEC]) ?
(1} Canada (2) India
(3) Tealy {4) USA

2017 4% TRHA= TR $9 (Sx.§.3.9.) 9 Avwrh B
3 HYW ?

(1) &t (2] ¥R
(3) T ' (4) Foan.
Sri Lanka has recently launched a website PERU to create awareness

on reconciliation among children. What is the full form of “PERU” 2
(1) ‘Peace Education and Reconciliation Union
(2) Peace Education énd Recenciliation ' =ity

i ——

(3) Peace Education and Reconciliation Unitary
(4) Peace Education and Reeonciliation Unit

P.T.O.
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17.

18,

19.

sficiepr < &1+l 1@ # € PERU w9 @ d9@Ee W SWCH T=di
HEE I % i ST I e ey BT ? PERU ST %t
S T 7 ?

(1) 9 os@er ooz Rt gRE=

(2) dra w@yE uos RediRmes g

(3) i wadae urs N gired

(4) drg uorEheE uee Resdifdues gie

Which state government has provided free Wi-Fi facilities to his edu-
cational institutions ?

1] Kerela (2) West Bengal

(3) Bihar (4) Orissa

FE A W H AP T YN TRAET Y YO A g W glam
ya & 8 ?

(1) &« (2) afyee e

(3} Br (4) S

Who has won the 2017 Global Teacher Prize ?

(1) Salima Begum (2) Ken Silburn

(3) Raymond Chambers (4) Maggie MacDonnell
Rre 2017 § Rrgg oeAmg® gREm ST & 7

(1] &l 87 (2) & o

(3) 1HUS I (4) R A

Who is the Present director of NCERT ?
{1) Prof. J.S Rajput

(2) Prof. Parvin Kiran Sinclair

(3) Prof. AK. Sharma

(4) Dr. Hrushikesh Senapathi

10



20.

21.

22.

170/92/30(i)

gaaE § .S E A, S PRy B § 7
(1) 5.9 .OF. I '

(2) @, wfT e faesier

(3) =r.u.. i

(4) =7, sER@s U

Which state government has made Sanskrit compulsory up to class
VIII in all classes ?

(1) Rajsthan (2) Assam
(3) Gujrat " (4) Keaela

R WRY A TEHR Y FW NS b B G wEST #F W #
g Y R & 7 .

(1) roTET= 2] ¥EH
(3) HEUa (4} CaG|

Mohan goes 15 km towards North, then turns left and moves 10 k.

Then he turns left and moves 15 km. In which direction he is moving
now ?

(1) Notth  (2) East  (3) West 4} South

HET 15 Rl s R e B 1 R 9w 91 g3 i B ok 10
Bl war 8 ) R I gt 15 Bl aoar ¥ & g B Rar
EAR R

(1) AT 2 w {3) ufem (4) wféor

E is sister of B, A is father of C, B is son of C then what is the relation
of AwithE ?

(1} Grand father (2) Grand daughter
(3) Father : (4) Grand mother

11 ' P.T.O.
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23.

24.

25.

26.

E,BETETEIACH R BIB,CH I, a9 A & T E 7
Ty & 7

1) aEI @) O

(3) T (4) =Y

P and Q are of same age. R is younger to S. T is younger to R but
elder to P. who is the eldest ?

P Q oY B FUST IR, S @ BT 81 T,R & 81 3 Bg P
FasrdigEdasTdA e ?
(1 P 2 Q 3] R (4) 8

1f PAIR is written as OCLV then TOWN will be written as ......

af> PAIR & f® ocLv farar =@ @ TOWN & &g Far foran
TEW ¢
(1) SQZR (2) QSZR {3) UQZR (4) VPZR

According to English Dictionary which of the following word will be
on 4% place ?

STt greEmle & AR Prw § @ @ @ g 919 W 9w

BT 7

(1) Encradle (2) Encourage
(3] Encreoach (4) Encounter

If the seventh day of a month is three days earlier than Friday, what
day will it be on the nincteenth day of the month ?

(1) Sunday (2) Monday
(3) Wednesday {4) Friday

12



27.

29,

17U/92/30(i)

i w1 w1 wiEt R gpax & @9 R o gz ¥ @ A A
SIEET & wr fmre

(1) @R 2) ErEr
3) gEa” (4) TR

If it was Saturday on 17% December 2002, what was the day on 22%
December, 2004 ?

(1) Monday (2) Tuesday

(3) Wednesday (4) Sunday
A 17 Reva, 2002 @ o on, & 22 R, 2004 2 A By

) S ;
(1) |ANER (2) HWErK
(3} guarr (4) WRER

If you write down all the numbers from 1 to 100, then how many
times do you write 3 ?

ﬂﬁmiﬁlaomﬂ%ﬂﬂ,aﬁmﬁmmsmm
(1) 11 (2) 18 (3) 20 4 21

&is.ﬂj?ﬁazsﬂldm“tﬂ-ﬂ and 3 years younger to C, while B and D are
twins. How many years older is C to D ?

a;,aiﬂr3-ﬁwt-mﬂ&3ﬁ'ﬁfér%.mﬁaaahqmgm,
TY R o qmr & 2

(1) 2 2 3 8) 6 4 12

13 P.T.O.
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30. A is three times as old as B, C was twice as old as A four years ago. [n
four years time, A will be 31. What are the present ages of BandC?

&, % A & T TSR, G, § § AR AW Tew A A TS A AN
%‘éﬁﬂmﬂﬁiﬂﬂﬁﬁlﬁ‘ﬂlﬂ?ﬁﬁmﬁﬂﬁfﬂﬁaﬂgw
? ;

(1) 9,46 (2) 9,50
(3) 10, 46 (4) 10, 50

14



31.

32.

33.

170792 f30{i)

SECTION - B
g - §

Sunkened stomata are found in leaves of :
(1) Neem : (2} Pinus
(3) Eucalyptus (4} Lotus
Fraet ofedt § of B Uy Wy EO?
(1) -m (2) vETH
() ghirew (4) FAA
Glycolysis takes place in -
{1) Ribososmes {2) Cytoplasm
(3) Mitochandria (4) Nucleus
R w8 aRtg Sar & 7 |
(1) wEEREry (2) *fRmEr s
(3) wWESEmEaT (4) e
Which light is most affective during Photosynthesis ?
{1) Green {2) Violet
(3) Red (4) Blue
m#ﬁw%w%mmﬂﬂaﬁmmm%?
(1) & 2) S
(3) W (4) e
Formation of fruits without fertilization is known as :
(1) Polyembryony (2) Parthenocarpy
(3) Parthenogenesis (4] Polygamy
R Pl ge ot @ T e §
(1) SEger (2} It
3) SRR (4) g

15 : P.T.0.
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35.

36,

37.

Winged pollen grains are found in :

(1) Pinus (2) Cycas

{3) Gnetum (4) Eorphorbéa
g R et o e #

(1) T&E7H | 2) WIHH

(@ e @) grerer

Bacteriophages are :

(1) Bacterium which infects virus

(2] Human infecting virus

(3) * A type of cyano bacterium

(4) Virus which infects bacterium
Yfefadse 2 2

(1) Freep o s 3 A Rarg
(2) AV P AT B A famTy
(3) T&H HH Fl g as

(@) ofamr @ g F e ey

Late Blight of Potato disease is caused by :

(1) Phytophthora infestans (2) Fusanium udems -
(3) Alternaria aiternata (4) Alternaria solani
mﬁmmhwmm%wm%?
(1) RIS ShRe (2) FAFEA ITH

16



38.

39.

41.

17U/92/301i)

Coichicine is used in production of ;

(1) Haploids | : (2) 'Palyploiﬁa

(3) Mutants , - . (4) Protein

HAEE B T Reed WA ¥ R o & 7

(1) S | @) =ggem

() SwReff (4} W=

Example of total stem para site is : |

(1) Nephenthes (2) ‘Santalum

(3) Cascuta (4) Orchids

ot @ ol ®r FareTer § |

@) W9 _ @) =T

(3] Fger | 49) omfazy
. Circinotropous Dvuieiafnund in :

(1} Opuntia . @) Lotus

{3) Brassica {4} Pea

TN v o1 Ao el fer R

(1) et (2) ==

(3) e (wem) (4) we

Primary precursor of Indole Acetic Acid is :

(1} Tryptobhan f2) Methionine

(3) Tryosine (4) Leucine

sSId TeRE sy & g ¥

(1) e (2) AR

(3) N (4) s

¥ P.1.0.
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42,

43.

45.

End product of glycolysis is :

(1) Ethyl alcohol (2) Pyruvic acid
(3} CO, 4} Glucose
TgRTaRTE @1 ot IR B

(1) ZoRE HATHEd (2 Torsfm ap
(3) HEA SEIACAES (4) TR

Cork is impermeable due to deposition of :

{1} Suberin | {2) Lignin

(3) Resin [4) Tannin
fred FRgor & HIROT B AU Bl 8

(1) gans : (2) f&f=

(3) W (4)

Coffee Plant belongs to the famly :

(1) Rubiaceac (2) Apocyanaceac
(3) Solanaceac - {4) Liliaceac
FIE & G hE g BB 7

{1) s (2) TR
@) AR (4) ferfeasn

Inscct responsible for transmitting Dengue fever is !
(1) Anopheles stephensi

(2} Anopheles culicens

(3) Aedes aegyptl

(4) Culex pipiens

18
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Y JER & TR & Rig FEr @
(1) Tifsfrg @9

(2) QHRET gt

(3) gty =

(4) FgFT iy

Crop milk to nourish the young ones are produced by :
{1) Male pigeons (2) Female pigeons

{3} Both 1 and 2 {4} None of them

aﬁ'%ﬁﬁw%f&ﬁt‘a&qﬁaﬁ’%ﬁ;maﬁmw?:

(1) R FFT (2) AT R
(8) 1eiR 29t 4) & & 3 T8

Kind of epithelial tissue found in the wall of buccal cavity of human
are ; *

(1) Squamous and stratified {2) Cuboidal and stratified
(3) Simple squamous (4) Simple cuboidal

W%‘W%ﬁﬁ’%ﬁmﬁwwﬁwsﬁﬁﬁmﬁrm:
(1} =p oo RduEs R FEmEw qur Yy

(3) VW =mw (4) ErCIEEL)

Widal test is done for detecting which of the following disease ?
(1} Tuberculosis (2] Typheid

(3] Cholera . (4) Scarlet fever

19 P.T.0,
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49,

50.

51.

Preafofges & F BhE Gord 1 O wa @ R Rew v B
FAEr 8 7

(1) TgeRgaa (2) TEABES

(3) (4) ®HAT FET
World’s AIDS day is organized every year on !

(1) 6" December | (2) 11" December

(3) 1" December (4) 31" December
freg wgw e wdw a8 JET A S

(1) 6 RwEy @ 11 R

(3) 1TRE=R (4) 31 fRE=R

Which is called the rhythmic phenomenon that occurs cvery 24 Hours 7
(1) Circannual rhythm (2) Circadian rhythm
{3} Circular rhythm {4) All above

FeigE e off Y% 24998 H A ¥

(1) Yo dag (2) a<RfEER dieHE
(3) WIHER AIaE (4) Iuled A
Ichthyophis ia :

(1) Afish - (2) An amphibian
(3) A reptile (4} A mammal
geriteE e B

(1) T Ao (2) UH IHAEL

(3) T Tqgy (4) TEH EEgTd

20
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52. Book lungs are respiratory organ of :

(1) Scorpion (2) Cockroach
(3) Human : ' {4) Cats
Rrifiaa R s ofe ‘g o ¥
(1) Rrg (2) T
(3) g™ (@) R
53. Gluconeogenesis is the process of production of glucose from :
(1) Fats only (2} Carbohydrates only
(3) Fatsand protein (4) All above

PR P 3 & fwd wgier a7 3 T Seear
ko .

(1) P gEr @ #aw @

@) =& o MEH (4) Sogmr |
54, Silver fish is:

(1) A Cartilaginous fish (2) A bony fish

(3) An arthropod {4) An Amphibian

Rt foomr # ¢

(1} == Suredl Bear (2) @B ey fpgr

(3) wE SnardE (4) UF TR
§5. Nematocysts are found in :

(1) Porifera {2) Coelenntrata

(3 Nematodes {4} Annelida

21 " PBT.0.
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56.

o7T.

58.

(1) qRG 2) e
(3) M=y (4) ufHferET

Kreb cycle takes place in ;

(1) Ribosomes (2} Chloroplast

(3] Mitochondria "~ (4) Endoplasmic Reticulum

B9 o FhgH gfed a1 & 7
(1) zgrars ) BRT wg®
(3) HESEEgal (4) T=rEnfers snfemem

How many nucleotides are found in a codon ?

uF HeH H fhad Yaeidegs Bk 8 7

(1 2 (2} 3 (3) 4 (4) 1

Kalazar is transmitted by :

(1) Tse Tse fly {2} Dragon fly
(3) Sand fly (4) Fruit fly
Feweny e & = gEie 8T §

(1 <. . s (2) FE wE
@) = wrg (4) BT HE

22
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60.

el.

170/92/30(i)

Following is a complex molecule that contains genetic information :
(1] DNA (2) RNA

(3) Protein (4) Oleic acid

ﬁmﬁf@ﬂwaﬁam%%ﬂﬁ@ﬁﬁ?ﬁwﬁ%ﬁ%f
(1) ¥ . O : (2) . WA C.
(3) WEF | (4) ot ofes

Most widely used and controversial flavor enhancer is :

(1 Monosodium propionate  (2) Sodium propionate

(3) Sodium benzoate (4) th}nnsﬂdium glutamate
SERT g REReR ged add @

(1) A afdaae (2) QfRzEw fEEE

(3) #fgaw F=ee (@) SRR JgEEE

Red palm oil is a source of :

(1) Ascorbic acid (2) Riboflavin .
(3) P -carotene {4) Calciferol
ars & aw Frefiied & 8a 8

(1) Qﬁﬁﬁﬁw (0) TEEORIEA
(3) HFe-HIAT @) BRI

3 3 " PrT !0|
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62,

63.

64,

(ive a scientific term for ‘eracking at the angles of the mouth’,

(1]  Glossistig (2) Angular stomatitis
{3] Dermatitis ' (%) Pellagra

T % B B B B R agwr Y s -

(1) irEmEfen (2} TgET =Enferzfeyg
6 SRy (4) e |

Atigora wool is made from hair of -

(1} Goat (2] Rabbit

{3) Sheep {#}] None of the above
T FA Frfofaa & & D ai & awh @

(1] FH¥ (2) G

(3) I3 (4) SuYET & § P S
Denier is the term applied to the strength of :

(1) Fiber (2) Yarn

(3] Fabric (4) Cotton

sfae e Frafafea @ amed 2 wgeer @ @

(1 g (2) A

(3) e (4) =i

24
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67.

17U /92/30{1)

The only fiber which contains sulphur is :
(1) Cotton (2) Juite
(3) Silk (4 Wool

e A v wewt g B, Freefe @ :

(1) FSA @) T

(3) W @ oA

Genetic make of a person is denoted by :

(1) Phenotype {2} Genotype

{3) Genetics (4) None of the above
it Py T TR ST Peafie & gl S LI
(1) Peiena @ ey

(3) AfeFE ) Swde # | 2
AIDS stands for ! -

(1) Acguired immune defense aystcm
{(2) Acquired immune defense gyndrome

(3} Acquired immune deficiency agndmmn

. 4) Assured immune deficiency syndrome

ugd @ I w9 ¥

(1) wEme g e R
(@) wwEwd oy e REEW
(3) waTas YA RERAE frEw
@) uEd T RARERARD g
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68. Light and dark stripes on a Zebra rug tend to create :

{1} Harmony {2) Rhythm

(3) Confusion {(4) Excitement
mﬁmmﬁﬂwaﬁﬁam@mﬁﬁmm%:
(1} eF&qar (2) =g

(3) W [(4) J9E

69. Batik printing originated from :

(1) Java f2) Japan

(3] India (4] None of the above

A BT & Frafifieg @@ & som gaTl :

(1) SimEr {2) w9 ~

(3) IR | (4) IR F 9 wF A
70. The unit of measuring electric resistance is :

(1) Ainpere (2) Ohm

(3) Volt (4) Wait

R st @ed %t g B -

(1) Ty (2) ol

(3) A 4) I

71. The complete path through which the current travels from one terminal
of the generator to other is known as ;

(1) Open circuit (2) Closed circuit

(3) Short circuit - (4) Ground circuit

26



72.

T73.

74.

75.

17U/92/30(i)

FRE & U it § g efiRe o R 39 R T 9
FEAH B

(1) 9 e (2) HSOIE whe

(3) omE Hﬁ%ﬂ (4) M "ihe

Which if the following is an example of individual approach :
(1} Group meeting (2) Lecture

(3) Workshop (4) Fair

Prefeieg § i o s ohE §

(1) amfgs a9 (2) WYY

(3) s (4) @

The half life of trittum {Hydropen-3) is 12.3 Years. After 49.2 Years
48.0 mg. of tritium will remain :

(1] 6.0mg (2) 3.0mg

(3} 12.0mg {4) 24.0mg

%Ez(s@mﬂs)ﬁw\mg 12399 ¥) @ 48.0 ALHT. A
492 9§

(1) 6.0 #t.ar. (2) 3.0 =

(3) 12.0 .. {4]‘ 24.0 .91,

Among I'I 0, H S, H,Se and HT, the substance with the highest

boiling pnmt is :

H,0, H,S, H,Se and HT, Tarell % @aQ oiftd Fais a8
(1} H,0 @) HS (3] H,S, (4) H,T,

The heat of neutralization of an acid A with a base B is 13_.'? kcal.
Which: of the following is true :

(1) Aisweak and B is also weak
(2) Ais strong and B is weak

(3} A is weak and B is strong

(4} Ais strong and B is strong

27 P.T.O.



17U/92/30(i)

’rﬁi

77,

T8.

FFEl ot A ofIR & B @t gerdidfier ot 13,7 feal, 309 &
Feiifaa § @ P s 2 7

(1} A 3X B @41 gdw ¥
(2) A o5 3T B 941 gefw &
(B) A g« & B yaw &
4) A oPT B 2 Uaw B

Eificiency of a heat engine between 400K and 300K is :

Frell o7 g9 St 400K AT 300K & A= @Emm Bl
(1) 1.0 (2) 0.75 (3] 0.5 (4) 0.25

8g of CH, and 2g of hydrogen are mixed and kept of 760 mm pres-
sure at 273K. The total volume occupied by the mixture will be :

(1] 11.2 fitre (2) 22.4 litre
(3) 33.6 litre (4} 44.8 litre

8g AT 2g T EBSISH wi BeEET 760 Hielt feX qam i 273K
SINEA RS sC I L I O R e b 7 B 2 T

(1) 11283 (2] 22.4 T

(3) 33.6dfteT | (4) 44.8ET

Which of the following liquids has the maximum viscosity :

(1} Water (2] Acetone

(3) Ethanol {4] Glycerine

frefeafga @ @ fre aee geref &t sgrar a9d Afts & 7
(1) 93 (2} GHIEH

(3) g (4) AT

28
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79. The paramagnetism is duec to presence of :

(1} paired electrons

(2] unpaired electrons

(3) both paired and unpaired electrans
(4] none of these

ST @ SRRy H HT
(1) Frwa FoeEr

(2) YRR TR

(3) A gfmm M srgRa T
4) Iadem # & Ad TH

80. Where liquid boils, its vapor pressure becomes equal to :

81.

(1) one atmospheric pressure (2) =zero
(3} very high (4) verylow

ST B aee qY oewAT ¥, SEE A 9/ WA 8 SR ©

(1) Fﬁamgqﬂzﬁhma% 2 FTIF
(3) WEd S 4) wgT I

For which of the following equilibrium eduatiohs will K be equal to
K, ? |

Pretifer # Ree arg @l § K, o K, F9F #0m 7
(1) -Pelye2Pc,+cl, (2) €O, =2C0+d,
(3) H,+L =22HI (4) 3H,+N,+2NH,

29 | P.1.0.
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82.

B3.

84,

For the study of distribution law the two solvents should be :
(1)  miscible

(2] non-miscible

(3) volatile

(4] reacting with each other

ﬁﬁmﬁw%mmﬁﬁﬁwém%

(1) P& g
(2) & & 9y
(3} arashe

(4) ©F Y A 5w T3 e

For one component system, at triple point the number of degrees of
freedom is -

(1) zero . (2) one
(3} two (4} three

et o mqﬁﬁrﬁ?ﬁqwﬁ%ﬂgﬁm%ﬁ" gy Bl ame
HIEY St T St W

(1} <= (2) @&
(3) (4) &=

Which of the following does not affect the rate of a chemical reaction ?
(1] enthalpy of a reaction

(2) concentration of reactants

(3] temperature

(4} surface area
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85. Which of the following has the maximum coagulating power for AS,S,.
Pb*, Al* , Ba* ,Na’

i emaet | Aﬂsﬁwﬁmﬁﬁﬁmﬁﬂmﬁﬂmﬂ
st ram E

Pb¥, Al , Ba™ , Na'

(1} Na (2) Na* (3) AF (4) Pb*

86. When a small quality of HCI is added to a mixture of sodium acetate
: and acetic acid (equimolar), the pH value :

(1) increases : (2) decreases
(3) remains Same : (4) increases abruptly

wﬁ%ﬁw@haﬂtqﬁiﬁaﬁmﬁwﬁ%ﬁa%ﬁmﬁ
St w0 & SRErltE IFW A T ¥ dF pH W A

(1) wgem & () =ear R
(3) & e B (4) THTH g1 §

87. Find the effective capacitance between the points A and B in the

circuit given below :

frey 3 R qRtwy ¥ A wd Reg B €S gwrll qikar s

if F |8uF
T b
ayF[ 10WF

- - 8uF

(1) 124 (2} 875,F (3) 6F 4] 5.3 yF

i 31 P.T.O.
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88, If the fluxe of magnetic induction through the coil of N turns changes

89,

In any way in a time t from ¢,to ¢, then the charge q that flows

through the circuit of resistance R connected to the coil in series is :

SN & goeeh @ iR § v § grehta 30T 31 B o,
¥ ¢, # aRaffa dar 8 & omdw q St aR9y & 92 g gfde R
¥ goseh & 3ot ¥ 9o B, wfafls & -

N{g-¢) -9,
() (R @ Ri
N{4 -4) ($-4,)

A capacitor whose capacitance is 1F is charged to S0V. The charg-
ing battery is then removed and a coil of 10 milihenry is connected in
parallel with the capacitor so that LC oscillations occur what is the
maximum Current flowing through the coil

{Assume that the LC circuit contains no resistance)

T s Prae oiftar 1pF B, I 50V as omafem ey oy B
FHD ITAT AN A At ¥ P gem w10 et 3T
Freeh Ry & gafax # et opar & Brad Lo 9w B ¥
Foeeht § § st R Rt @7 sware @ ?

(7 & B LC oRuw & % uferdr =€t ®)
() 0.50Amp (2) 1.5Amp (3) 5.0Amp (4 15Amp
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90, In a series L - C — R circuit the sharpness of resonance for fixed

91.

resonance frequency increases with :
(1) increasing value of resistance R
{2) decreasing value of resistance R
{3) decréam’ng- value of inductance

(4) increasing valie of the capacitance
%mﬁﬁmﬂqﬁwﬁﬁuamwmqﬁﬁ%ﬁﬁmﬁm
g B-

(1) A RS 9 WA R (2) o@UY RS 76 w24 &
@) FEREIAMEEA R (4) MR B AW a7 §

indicate the false statement about the conditions for interfercnce of
light waves :

(I} The two waves must be in the same polarization state

(2) The light sources of two waves must bc coherent : |

{3) The frequency of the two waves must be same

(4) The direction of propagation of the two waves must be same
e Tt @ sfreEn e = Rufy & Fre ¥ @ wa R & R
HT : _

(1) O T uEm B ATEHET @ # 8

@) A TN B gEE W A dwgar &

@3) A T A agha oh § A

(@) A A gEw R o @ @

33 P.T.O.
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92.

93.

95,

P.N. Jundian diode can not be used as °

(1) rectifier (2) demodulator
{3) oscillator (4) modulator °

tﬁ.m.aﬁﬂqmaﬁﬁﬁaﬁﬁwaﬁﬁmmm:

(1) WrewmEg (2) Rfeg@ex
(3t onfEReT (4) AIFRX

How many two input NAND ga-.tf:s are required to design a two input
OR gate : .

ﬁwon%ﬁmmﬁﬁﬁﬁaﬁﬂwﬂmnﬁﬁq&
SHAEATFA & 7

(1) 2 (2} 3 (3] 4 (4) S

A transistor having « = 0.975 and reverse saturation current I, =10pA
is operated in common emitter configuration. If the hasr: current is
250pA find the collector current :

UF TR B @ =0975 wF ofeew w@giT ara 1 =10pA ¥ @
yae oF IWafve awel @R ¥ @ ter B ovR anEm
9 250pA ¥ @ HHEE 9T W A -

(1) 10.15 mA {2) 9.25mA

(3) 10.45mA (4) 9.65mA

Which one of the following particles cannot be accelerated to very
high energy using cyclotron :

{1) Proton | (2) Deuteron
(3) electron (4) Particles
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ﬁﬁtﬁﬁﬁqmmﬁaﬁ(ﬁn@aﬁmﬂ%ma@aﬁrwﬁ
¥ @ty @& fF on gaar 8

(1) HEH (2) TEH

(3) FATT (4) et

Water from a tap emerges vertically downwords with an initial speed
of 1m/sec. The cross sectional area of the tap is 104m pressuse is
constant throughout the stream of water and the flow is steady then
the cross sectional area of the stream 0.15 meter below the tap is :

o AW § o e Rw # 1 Wo ofy Fave & afm 3 & B @ ¥

o & g e 107 m’ ¥ 2e A g B R aR o Free e
3 95 wr ¥ oF weE R ¥ A WU FgEe HE, 0.15 Hex A= &)

(1} 35.0x107%m’ (2} 5.0x10"m’
(3] 1.0x107*m’ 4) 20x10*m’

In a given process of an ideal gas dWw=0 and dg <0 then for this gas
after the process :

(1) the temperature of the gas will increase

(2) the pressure of the gas will increase

(3} the temperature of the gas will decrease

(4) the pressure of the gas will decrease

smast ey @t Rl aBR & dw=0 T g <o ¥ & A o sivwm B
L EA RS

1 ™\ = arEE S (2) g F @@ TN

(3} 9 ® W g (4 g w1 == wR

35 P.T.O.
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98. An ideal spring with force constant K has been hung from the ceiling

99.

and block of mass M is attached to its lower free end. If the mass M is
gently released with the spring initially unstreched then the maxi-

mum extension in the spring is

T st fai (s Fraais k) B ow SR & wemmar g @ i
Th JAE (AT M) FEH WA B 9 AT 81 opw M 6 |
@aaﬁﬁﬁuﬁﬁaﬁw(gﬁﬁfmvﬁﬂ%ﬁmﬁﬁ%
Rerema & -

(1) Mgk (2) Mgk (3)  aMgk (4] 2Mg/k

A beam of light is passed through a quarter wave plate. The emergent
light can be made to suffer complete extinetion by rotating the Nical
prism, placed in the path of the emergent bean of light, The incident
beam of light it ;

(1} plane polarized {2} analogized

(3} cireularly polarized (4] elliptically polarized

mTwﬁﬁwga%mmaaﬁzﬁwwmr%rﬁw
T 91T Y Treber form, Sy e g @ R H @0 B, @l e
{ﬁﬁ?@ﬁ@'ﬁﬁﬁlmﬁw%lﬁ@?w%gﬁl:

(1) o9aa gfaa ¥ (2) gl ¥

() NEmR giEa ¥ (4) . giofvreepett gfaa ¥
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100. At any instant of time in a sample of ratio active substance 25% of the
nuclei are still disentegrated. After 10 Sec. from now the number of
disentegrated nuclei becomes 12.5%. The average life of the nuclei
for this radio active subestance is :

(1) 10 sec. (2) 7.25sec. (3] 14.43sec. (4] 18.37 sec.

el v o YRR afra st @ TR 7 25% SR SRR
¥ z9® 109. o o T | sl <gfRd daw 12.5% @ IR
3|mmﬂﬁﬁm%%ﬁaﬁmmw%?

(1) 109. @) 7.259]. (3} 14.434. (4) 18.37 9.
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ROUGH WORK
% &Y
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ROUGH WORK
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[40.

11,

12,
13.

14.

sreféat & foru fdw
(79 Q=T & Yo SEver 45 g7 a9y I97-97 & o e oy
&awT Fiet- et aoT-wnye g 7 fe)

- T qfe e & 3 fre & ot € 3w o i yvRw § o g wieE # ik #d

Y 2T T 31 firen S R WA W I YA At wa- e wt S g
ERERERE TGRS E B i Tl |
;rraar;;qﬁ‘m?ﬁamqa&wﬁﬁm feran 2 ey Hig o g w5
T &

FC- 7% o @ 7w v 1 yR 7 @ oy v 7 8 A w4 gwe - vy a9 w wwm
FaE INT-UT T § JENET FEr mhm

S IFTHAE TN IT-TF F FHF LT NEOLTS W ¥ B Pty wm w fad
T-UF & YO0 U @T 97 @ A0 IgeAis eitE v o7 e ae A Gl g9 5

™I % 31 wgl- ol srwvaw g a@ WVI-QIEET T WG 74T He F TEC AW @
v fered

dte Yo FTo UF GT FwIH GOAT, NPIYRAST WOAT T 62 WO (9T FF &) aw
mgﬁawwagm’ar I &te Whe Ao UF TEW T vATE ¥ AT B FAA
el #1

Fug siAEay & wiy o aftadT & FOgE T ym gy and sraw o7 0@ s
qrg =T wahr qr W

¥v1-ghtdar & weten vw & a dwfona 3w 53 m # wew avw & ABE T @
AR ITE-9F F FAAT ofEw F wred 74 18 7 F 30-97 F 749 yO 0 R
o & Fqar 47 § mer &

FEE A & IW F T F9E v € @ B M U & F 3w g9 @ me F
9 3Yar U g9 A 9ol SO W % 39 e WA S

€T & I U3 W W} BT FHEE 39 awew Ag o7 gmar §1 918 309 661 99T &7 I
T 5 w8, ot e A & e il @ o get @ anelt B 41 09 v g
% fag

% w1 & fo sw-gferm & qEye & S 9 78 a9 Se-gfR & e e
& 13T &

ylien % ST daw & gw W Swe-a7 T FEA § I )

i TR B ¥ gel GO Hoe ¥ e A A il 76 e

afe ¢ sref olten F afeE WA & W H 2, @ 9% vafaenes 3 Ruia
g wa, vt gm/anl



